
 
 

Report Generated On: 04/27/2025 Unique Device Identification

     Set Code:
 
  EXT5SC

 

  Set Barcode:
 
  Description:

 
  EXP 5.50MM TI SACROPELVIC

 
  Case Report ID:

 
  

 

   Primary Tray

Product # Product Desc. QTY UDI-DI UDI Barcode

1 179722165 EXP DI POLY SCREW 10X65MM TI 2 10705034070193

 

  (01)10705034070193

2 179722180 EXP DI POLY SCREW 10X80MM TI 2 10705034070209

 

  (01)10705034070209

3 179702765 MONOAXIAL SCREW 7 X 65MM 2 10705034065090

 

  (01)10705034065090

4 179712765 SI POLYAXL SCREW 7 X 65MM 2 10705034067940

 

  (01)10705034067940

5 177440125 MON 5.5MM TRC W/BODY, 125MM 2 10705034061887

 

  (01)10705034061887

6 179722865 DI POLYAXL SCREW 8 X 65MM 2 10705034071015

 

  (01)10705034071015

7 279722050 DI ALIGNMENT GUIDE 1 10705034199290

 

  (01)10705034199290

8 179712780 SI POLYAXL SCREW 7 X 80MM 2 10705034067971

 

  (01)10705034067971

9 179722980 EXP DI POLY SCREW 9X80MM TI 2 10705034071190

 

  (01)10705034071190

10 179712065 EXP TI POLY SCREW 7.5MMX65MM 2 10705034066639

 

  (01)10705034066639

11 179702880 MONOAXIAL SCREW 8 X 80MM 2 10705034065298

 

  (01)10705034065298

12 179722880 DI POLYAXL SCREW 8 X 80MM 2 10705034071046

 

  (01)10705034071046

                               1 / 3



 
 

Report Generated On: 04/27/2025 Unique Device Identification

     Set Code:
 
  EXT5SC

 

  Set Barcode:
 
  Description:

 
  EXP 5.50MM TI SACROPELVIC

 
  Case Report ID:

 
  

 

   Primary Tray

Product # Product Desc. QTY UDI-DI UDI Barcode

13 179798020 5.5 TI CLSD ILIAC CN 20MM 2 10705034082974

 

  (01)10705034082974

14 179797040 5.5 TI OPN ILIAC CN 40MM 2 10705034082929

 

  (01)10705034082929

15 179798060 5.5 TI CLSD ILIAC CN 60MM 2 10705034083025

 

  (01)10705034083025

16 275890100 MMM PLASTIC LID 1 10705034195483

 

  (01)10705034195483

17 179797020 5.5 TI OPN ILIAC CN 20MM 2 10705034082882

 

  (01)10705034082882

18 179798040 5.5 TI CLSD ILIAC CN 40MM 2 10705034083018

 

  (01)10705034083018

19 179797060 5.5 TI OPN ILIAC CN 60MM 2 10705034082936

 

  (01)10705034082936

20 179797150 5.5 TI OPN ILIAC CN 150MM 2 10705034082950

 

  (01)10705034082950

21 179792100 LATERAL CONNECTOR, 100MM 2 10705034082776

 

  (01)10705034082776

22 179793150 TI FIXED LAT CONNECTOR 150MM 2 10705034082844

 

  (01)10705034082844

23 279722400 XPDM QUICK-CON DI POLY SCWDRVR 1 10705034199344

 

  (01)10705034199344

24 279722500 DI ROD STABILIZER 1 10705034199375

 

  (01)10705034199375

25 179702865 MONOAXIAL SCREW 8 X 65MM 2 10705034065267

 

  (01)10705034065267

                               2 / 3



 
 

Report Generated On: 04/27/2025 Unique Device Identification

     Set Code:
 
  EXT5SC

 

  Set Barcode:
 
  Description:

 
  EXP 5.50MM TI SACROPELVIC

 
  Case Report ID:

 
  

 

   Primary Tray

Product # Product Desc. QTY UDI-DI UDI Barcode

26 177440060 MON 5.5MM TRC W/BODY, 60MM 2 10705034061863

 

  (01)10705034061863

27 179712080 EXP TI POLY SCREW 7.5MMX80MM 2 10705034066660

 

  (01)10705034066660

28 179792050 LATERAL CONNECTOR, 50MM 2 10705034082769

 

  (01)10705034082769

29 179702780 MONOAXIAL SCREW 7 X 80MM 2 10705034065120

 

  (01)10705034065120

30 207001090 90 DEGREE AWL 1 10705034296128

 

  (01)10705034296128

31 179722050 UNITIZED DI SET SCW, TI 5 10705034070087

 

  (01)10705034070087

32 205049 IS ILIAC SCW PROBE LG 1 10705034001432

 

  (01)10705034001432

33 279782000 FOUR SECTION TRAY 1 10705034201221

 

  (01)10705034201221

34 179722965 EXP DI POLY SCREW 9X65MM TI 2 10705034071183

 

  (01)10705034071183

35 177440040 MON 5.5MM TRC W/BODY, 40MM 2 10705034061856

 

  (01)10705034061856

36 279783999 CADDY 6 10705034202198

 

  (01)10705034202198

Powered by TCPDF (www.tcpdf.org)

                               3 / 3

http://www.tcpdf.org

